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1.
In Ben v. Jerry, the Colorado Supreme Court held that a minor could cancel a contract for the sale of a car.  Now a trial court in the same state is deciding a case with similar facts as the Ben v. Jerry case.  Under the doctrine of stare decisis, the trial court is likely to:

a. Allow the minor to cancel the contract.

b. Disregard the previous case.

c. Order the minor to cancel the contract.

d. Require the minor to fulfill the contract.

2.
Marley’s Hemp Shop sells several products made with hemp, a fiber derived from the marijuana plant.  The state of Colorado denied Marley’s request for a permit to erect a billboard along I-25 in Denver advertising its hemp products.  Marley’s sues the state alleging that its 1st Amendment right to free speech has been violated.  Which of the following is true:

a. Marley’s will win in court because this form of speech is fully protected.

b. Marley’s will win in court if it can show that denying the permit will cause a financial hardship.

c. The state will win if it can show that the denial of the permit furthers highway beautification.

d. The state will win regardless of whether it can show an important government interest because marijuana is illegal.

3.
The federal government enacts a law that prohibits all US citizens from traveling outside of their state of residence.  Under which provision of the US Constitution would this law be challenged:

a.
Equal protection clause.

b.
Procedural due process clause.

c.
Substantive due process clause.

d.
Commerce clause.

4.
Which of the following is not a 1st Amendment right:

a.
Right to privacy.

b.
Free speech.

c.
Freedom of religion.

d.
Freedom of the press.

5.
The document that informs Lance that he is being sued is:

a.
The complaint.

b.
The service of process.

c.
The summons.

d.
The answer.

6.
Rick is driving north through an intersection on a green light when Sheila, driving west, crashes into him.  At the crash site in the intersection, several people told Rick that they witnessed the accident and observed that Sheila ran a red light.  Rick sues Sheila for his injuries and damage to his car.  Despite the testimony of the witnesses (none of whom disputed that Sheila ran a red light), the jury held that Sheila was not liable for Rick’s injuries because she was not at fault.  If the judge determines that the jury’s verdict was unreasonable in light of all the evidence presented at the trial, the judge could:

a.
Issue a directed verdict.

b.
Require a voir dire.

c.
Issue a JNOV.

d.
File an interrogatory.

7.
Which of the following is not a form of discovery in connection with a trial:

a.
Voir dire.

b.
Interrogatories.

c.
Depositions.

d.
Examinations.

8.
Susan and Anya are walking across the CU campus one afternoon.  While talking, they all of a sudden notice that an out-of-control skateboarder is heading right towards them.  He is in a hurry because he is late to class.  Unable to get out of his way because he is going so fast, Susan and Anya freeze.  The skateboarder jumps off the skateboard, and it crashes into Anya’s leg, causing an injury.  Anya wants to sue the skateboarder for committing one or more torts.  Which of the following torts could be a basis for her lawsuit:

a.
Battery.

b.
Assault and battery.

c.
Negligence.

d.
Battery and negligence.

e.
Assault, battery, and negligence.

9.
As a practical joke, Steve takes Jim’s accounting book and hides it so that Jim cannot find it for three days prior to the final exam.  Steve finally gives Jim the textbook the night before the exam.  Steve has committed which of the following torts:

a.
Trespass to personal property.

b.
Appropriation.

c.
Disparagement of personal property.

d.
None of the above because Steve was playing a practical joke.

10.
Kris undergoes knee surgery for a torn ACL.  Following the surgery, Kris finds out that one of the nerves in her knee has been severed.  Under what theory can Kris sue the surgeon:

a.
Res ipsa loquitur.

b.
Negligence per se.

c.
Assumption of the risk.

d.
Strict liability.

11.
Branka keeps a can of gasoline in the trunk of her car.   Branka always parks her car on the street in front of her house.  One night, a storm rolls in and a bolt of lightning hits the trunk of Branka’s car, causing an explosion.  The explosion injures several people who are walking down the street.  Which of the following defenses to a negligence claim can be used by Branka:

a.
Assumption of the risk.

b.
Superseding cause.

c.
Comparative negligence.

d.
Res ipsa loquitur.

12.
Pat accuses Ken of fraud.  The reliance that gives rise to fraud is based on a statement of:

a.
Law.

b.
Fact.

c.
Opinion.

d.
Truth.

13.
The school of legal thought that views law as a tool for promoting justice in society is:

a.
Natural law school.

b.
Positive law school.

c.
Historical school.

d.
Sociological school.

14.
Bob, a resident of Wyoming, owns a condo in Colorado.  Bob and Ricky, a resident of Kansas, get into a dispute over ownership of the condo.  Ricky files a lawsuit against Bob in Colorado.  Regarding this lawsuit, Colorado has:

a.
Diversity jurisdiction.

b.
In personam jurisdiction.

c.
In rem jurisdiction.

d.
No jurisdiction.

15.
Which of the following remedies could be awarded by a court of law:

a.
Injunction.

b.
Specific performance.

c.
Economic compensation.

d.
Rescission.

e.
All of the above could be awarded by a court of law.

16.
A Florida law restricts certain kinds of advertising to protect consumers from being misled.  A court would likely hold this law to be:

a.
An unconstitutional restriction of speech.

b.
Constitutional under the First Amendment.

c.
Justified by the need to protect individual rights.

d.
Necessary to protect state interests.

17.
A domestic relations court, which handles primarily divorce actions, is an example of:

a.
A limited-jurisdiction trial court.

b.
A general-jurisdiction trial court.

c.
A limited-jurisdiction appellate court.

d.
A general-jurisdiction appellate court.

18.
Which of the following is a form of alternative dispute resolution in which the parties meet with counsel to talk about settling the case:

a.
Nonbinding arbitration.

b.
Binding arbitration.

c.
Negotiation.

d.
Mediation.

e.
Neutral case evaluation.

19.
Strict liability is:

a.
Liability for actual cause.

b.
Liability for proximate cause.

c.
Liability without fault.

d.
Contributory liability.
20.
Federal statutes are enacted by:

a. The Executive branch.

b. The Judicial branch.

c. The Congress.

d. The Legislative branch and the Executive branch.

e. The US Supreme Court.
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